Word Problems – Fractions
Information taken from Donatelle (2009), 'Health: The Basics' (8th edition).

a) A group of friends went to watch the Netball. Of the group, 3 people arrived by taxi, 5 caught the bus and 4 walked.  Express each of these figures as a fraction. (Hint:  First work out the total number of students in the group.) Simplify your fractions as much as possible.

b) A group of 150 people were surveyed, with the following results:

Usually smoke 1 – 5 cigarettes per day


15
Usually smoke 6 – 10 cigarettes per day


10
Usually smoke 11 or more cigarettes per day

5
(The rest are assumed not to smoke)

How many people do not smoke? Express each of these 4 numbers as a fraction, simplified where possible.

c)  
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  of Ian’s clients were found to have high blood pressure.  The remainder presented with a variety of other conditions.  What fraction is this?  If there were 150 clients in total, how many people had a high blood pressure and how many presented with the other conditions?
d) One in ten major strokes are preceded by a minor attack. Out of 120 stroke patients, how many are likely to have had a minor attack some time earlier?
e) In America it was found that nearly nine out of ten non-smokers are exposed to environmental tobacco and have measurable levels of nicotine in their blood. How many people is this in a workplace with 450 non-smoking employees.

f) Smokers tend to miss work one-third more often than non-smokers do. If non-smokers miss, on average, 12 days per year, how many days do smokers miss?

g) A study showed one quarter of all university students do not participate in any vigorous or moderate intensity exercise. What fraction do participate in exercise? If Unitec has 19,500 students, how many does this study suggest participate in vigorous or moderate intensity exercise?
h) A study surveyed 60 children and found 
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 of them had been immunised against tetanus.  What fraction were not immunised?  How many children were not immunised? 
i) Raquel sat an exam of 80 questions.  She got 
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 of them correct.  
What fraction did she get wrong?  How many questions did she get wrong? 
j) In a survey of 75 children 
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 of them had never had broken bones.    
What fraction had had broken bones?   How many children had had broken bones?
Answers
a   
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120 people
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d.        120 ÷ 10 = 12

e.         450 ÷ 10 × 9 = 405

f.         12 ÷ 3 = 4. 12 + 4 = 16

g.         ¾    19500 ÷ 4 × 3 = 14,625

h.         2/15    60 ÷ 15 × 2 = 8
i.         5/16   80 ÷ 16 × 5 = 25

j.        7/25   75 ÷ 25 × 7 = 21
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